

"M2C" Foreign Military Aeronautical Experience to FAA ATPL Conversion Program

Private Pilot License (Phase 1)			
Expense Type	Hours/Units	Cost	Total
Gleim CBT	1.00	\$80.00	\$80.00
Theoretical Exam	1.00	\$175.00	\$175.00
Ground School (Briefings/Debriefings)	3.00	\$73.00	\$219.00
Flight Instruction (CE-152)	5.00	\$195.00	\$975.00
FAA Check-ride - Aircraft Rental	1.00	\$231.00	\$231.00
FAA Check-ride -DPE Examiner Fee	1.00	\$1,000.00	\$1,000.00
	Total		\$2,680.00

Instrument Rating (Phase 2)			
Expense Type	Hours/Units	Cost	Total
Gleim CBT	1.00	\$200.00	\$200.00
Theoretical Exam	1.00	\$175.00	\$175.00
Ground School (Briefings/Debriefings)	3.00	\$73.00	\$219.00
Flight Instruction (CE-172)	5.00	\$303.00	\$1,515.00
FAA Check-ride - Aircraft Rental	1.50	\$231.00	\$346.50
FAA Check-ride -DPE Examiner Fee	1.00	\$1,200.00	\$1,200.00
	Total		\$3,655.50

Commercial Pilot License (Phase 3)			
Expense Type	Hours/Units	Cost	Total
Gleim CBT	1.00	\$180.00	\$180.00
Theoretical Exam	1.00	\$175.00	\$175.00
Ground School (Briefings/Debriefings)	3.00	\$73.00	\$219.00
Flight Instruction (CE-172)	5.00	\$303.00	\$1,515.00
FAA Check-ride - Aircraft Rental	1.50	\$231.00	\$346.50
FAA Check-ride -DPE Examiner Fee	1.00	\$1,200.00	\$1,200.00
	Total		\$3,635.50

Airline Transport Pilot License (Phase 4)			
Expense Type	Hours/Units	Cost	Total
Gleim CBT	1.00	\$200.00	\$200.00
FAA ATP-CTP course	1.00	\$4,500.00	\$4,500.00
Theoretical Exam	1.00	\$175.00	\$175.00

Ground School (Briefings/Debriefings)	10.00	\$73.00	\$730.00
Flight Instruction (PA- 44)	10.00	\$475.00	\$4,750.00
FAA Check-ride - Aircraft Rental	2.50	\$475.00	\$1,187.50
FAA Check-ride -DPE Examiner Fee	1.00	\$1,600.00	\$1,600.00
	Total		\$13,142.50

Other Fees			
Expense Type	Hours/Units	Cost	Total
Admin, consulting, document review and prep	1.00	\$1,500.00	\$1,500.00
FAA Class 1 medical	1.00	\$160.00	\$160.00
TSA Certification Clearances	4.00	\$130.00	\$520.00
M1 visa fee	1.00	\$185.00	\$185.00
SEVIS I-901	1.00	\$300.00	\$300.00
Accommodation (Estimated)	45.00	\$50.00	\$2,250.00
Car rental (Estimated)	45.00	\$50.00	\$2,250.00
	To	Total	
THIS DRICING IS AN ESTIMATE ONLY			

THIS PRICING IS AN ESTIMATE ONLY

Training Only	\$23,113.50
Grand Total	\$30,278.50